
s:=segment(A,B);S:=inter_unique(s,d,
affichage=quadrant4)
[segment(point(-2,0),point(2,0)),point(-1,0)]

assume(m=[0.66,0,1,0.01])
parameter(m,0.0,1.0,0.66,0.01)
M:=element(PQ,m,affichage=quadrant2);
point((1-m)*(1+i)+m*(3+2*i))
polygone_ouvert(A,M,B,affichage=5);
polygone(point(-2,0),point((1-m)*(1+i)+m*(3+2*i)),point(2,0),point(’affichage’=5))

l:=longueur(A,M)+longueur(B,M);
sqrt((-1+m-m*3-2)^2+(-1+m-m*2)^2)+sqrt((-1+m-m*3+2)^2+(-1+m-m*2)^2)

evalf(l),legende(-5-4*i,evalf(l))
[6.31852054993,point(-5,-4)]
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